


Aggiornato al 29/06/2007

25.1148.17 UR3-06 Ug.rot.500bar,1 ug.,ver.sc.
25.1150.11 UR3-06 Ug.rot.500bar,2 ug.,ver.sc.
25.1150.12 UR3-07 Ug.rot.500bar,2 ug.,aran.

25.1150.13 UR3-08 Ug.rot.500bar,2 ug.,arg.
25.1150.14 UR3-09 Ug.rot.500bar,2 ug.,oro

Pos. Codice Descrizione Q.tà K1K2K3K4 Pos. Codice Descrizione Q.tà K1K2K3K4
1 25.1152.51 Perno G1/2 F inox 1 3
2 25.1154.84 Manopola ugello nera 1 3
3 25.1151.31 Corpo rotante 2× M6x1F 1 3
4 25.1155.51 Ugello 03 - M6 inox (1) 2 3
4 25.1156.51 Ugello 035 - M6 inox (2) 2 3
4 25.1157.51 Ugello 04 - M6 inox (3) 2 3
4 25.1158.51 Ugello 045 - M6 inox (4) 2 3

4 25.1159.51 Ugello 05 - M6 inox 1-2 3
4 25.1160.51 Ugello 055 - M6 inox 1-2 3
4 25.1161.51 Ugello 06 - M6 inox (5) 1-2 3
5 16.2220.00 Grano DIN913 M6x8 mm inox 1 10
6 25.1153.31 Rosetta 6x20x1,5 mm ott. 1 5
7 16.1832.00 Vite ISO7380 M6x8 mm inox 1 10
8 15.2000.70 Chiodo 07 arancio (1) 1 10

(1) 25.1150.11 (2) 25.1150.12 (3) 25.1150.13 (4) 25.1150.14 (5) 25.1148.17



Last updated 29/06/2007

25.1148.17 UR3-06 Nzl,rot.500bar,1 nzl.,d.green
25.1150.11 UR3-06 Nzl,rot.500bar,2 nzl.,d.grn
25.1150.12 UR3-07 Nzl,rot.500bar,2 nzl.,orange

25.1150.13 UR3-08 Nzl,rot.500bar,2 nzl.,silver
25.1150.14 UR3-09 Rot.nzl,500bar,2 nzl.,gold

Pos. P/N Description Q.ty K1K2K3K4 Pos. P/N Description Q.ty K1K2K3K4
1 25.1152.51 Pin, 1/2F Bsp Sst. 1 3
2 25.1154.84 Nozzle knob, black 1 3
3 25.1151.31 Rotating body, 2× M6x1F 1 3
4 25.1155.51 Nozzle, 03 - M6 Sst. (1) 2 3
4 25.1156.51 Nozzle, 035 - M6 Sst. (2) 2 3
4 25.1157.51 Nozzle, 04 - M6 Sst. (3) 2 3
4 25.1158.51 Nozzle, 045 - M6 Sst. (4) 2 3

4 25.1159.51 Nozzle, 05 - M6 Sst. 1-2 3
4 25.1160.51 Nozzle, 055 - M6 Sst. 1-2 3
4 25.1161.51 Nozzle, 06 - M6 Sst. (5) 1-2 3
5 16.2220.00 Set screw, DIN913 M6x8 mm Sst. 1 10
6 25.1153.31 Washer, 6x20x1,5 mm brass 1 5
7 16.1832.00 Screw, ISO7380 M6x8 mm Sst. 1 10
8 15.2000.70 Stud, 07 orange (1) 1 10

(1) 25.1150.11 (2) 25.1150.12 (3) 25.1150.13 (4) 25.1150.14 (5) 25.1148.17


